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Q20) A straight wire 5 m long carries a current of 40 A perpendicular to a uniform
magnetic field. If the force per unit length on this wire is 2 N/m, the magnitude
of the magnetic field is:

a. 80 mT b. 50 mT c. 20mT d. 10 mT
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Q21) A proton is moving in a circular path of radius r perpendicular to a magnetic
field. If the magnetic induction is doubled with constant proton speed v, the
radius of the circular path is:

a. Doubled b. reduced to its half
¢. Unchanged d. Quadruple

10 cm A8l Laghuaiti g olas) i 420 A 1S Ol ) sie 0O s QL Jaay (2204
15 3o Lagias Adlosall Coaia b A ie o] puplaliseall Yl
Q22) Two long straight parallel wires carries a current of 20 A in the same direction
and separated by a distance of 10 cm. The magnitude of the resulting magnetic
field at the midpoint between the two wires equals:

a. 160 mT b. 80 mT c. 40 mT d. 0
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Q23) A solenoid 1 m long has 2000 turns/m carries a current of 25 A. The magnetic
field at the center of the solenoid is:

a. 62.8 mT b. 628 T e 6.2ml d. 6.2T
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Q24) Which of the following quantities doesn't depend on the current I?:

a. Magnetic field b. Magnetic force affecting on a conductor
c. Self-Inductance d. Magnetic Flux
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